2024%10A258 @ R SUFIA LF v LU 2KRA

R SUFELALFYLUD2KE 1400m 9— k& E< 240, 96, 60, 36, 245 m °
H5ILw KR 2% 1:30.8 BRSEMER 534 29 544 14 454 8 434 5 i/}
2 YR 741.\ i?r 1:30.1 L—25y JIER : MSS 24 SSM 13 SSS 10 MSM_9 Grart
MR | PREK | EETES T i 35 E AR B) Ehvvavtt B 27BE=L-2% LT 771 MTE=HIE M- BE - AK AN
B F | MBIMM LB £roi18%] B F 14000 2, 3, AABBIEE STE=IEA - 1—X - BigKE 244 EAYBF
=) 2@ | B 2 |@nEE/RE|m 4T | ¥ 0800m #3F (HELY, WFH, S;EL‘) Wit 3 Fodl BB A9-h~d4f - SA~4F - #IF(5~1) LY 3 FIRAM
HEEARGERES WH | £ 5 | FU0RE (m & | By | L—ALYSFAL - HBEOLYSFEAL > 05 OBAKT HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
EE/RE BAvX | BERM | O 1AMM| # BLFR| # % 5m AIE HiaE 35ERT AFERT 53E AT
W7 R L—9 52|17 B[ ©: ::: |A@F0000 |FmM0000 [2400.10 18 F P8l |24.08.21 24 F FIl | 24.07.10 13 F MBIl |24.06.18 17 & [IAl | 24.05.29 20 & P40
h—hrohz— o3 F0 B 422-422 | a4 0.0.0.0 | \FO0.000 | 25 34 2% | 2% KM 2 | 2B KB 2% | MEMLR 2% | JRASZE 0E
“7 = 54.0 .382| fT 55-55 A40.0.0.0 [ F=0.000 |5 B 7% 5N 4t 1 5B 4% 6N 6 1088 2& 54 W | b 958 4% SA 6 858 6% SA
111o | xaFry 2 | INER JIA0.0.0.0 | FFHO0.0.0.0 [422 0 ®H¥ 55 @DDE® | 422 +6 @H¥ 55 QD) | 416 -6 & FH¥ 55 @O | 422 +4 BF¥ 55 ®5| 418 ®H* 55 ®®
HI5TLIOTFUR) AL EA0.000 | F1.0.0.1 | 1600m 5 B 1:47.7 40.8 | 1600m % # 1:47.1 41.7|1200m % # 1:18.1 39.7| 1100m % B 1:11.4 40.3 | 1100m % B 1:12.0 40.5
PO LB 455 [%]] 1,004 |2 0001 [£51.004 [ ---- ®- - | HSS 41.0 244 () | HSS 42.0 524 (1) 37.5-37.7 251 (6) 40.6 344 (4) 39.5 343 (6)
b-hod-t 2 (#%) 0.0.0.0 | 305130580 | £ 0.0.0.0 | #58 1000 | 7H -M+(1.0) k5 37 4747 (-0.3) S | M5 -(2.9) Sk | £ rATI(O.6) S8 | YHIRIAN-(2.0) kL
SIEALE Y 2 [ 10 T |MZOOLT [ FHE00.T.0 240919 16 F AA1 |24.08.19 9 & @M | 24.08.01 A
J4F7LAE—O— FhoTH A 0000 | NFO00.0.1 | 2FH 2% K1) —LF 58 | gER
55.0 .121 KH0000 | F=0000 |3 688 1% 2N |/A|6 788 7&6A 5
A 2 8K FreUR F|IRF | HR 13470| NIF0.0.00 | FH0.0.0.0 | 481 +2 BITH 54 @G| 479 REM 54 ©® | 481 HTH
(RRY LS 4—2) 111 SHE 1347Q) | 4 0.0.0.0 [ F550.0.0.0 [ 1400m 4 B 1:34.7 39.9 [ 800m & E 0:51.6 38.9 [ 800m 4 53.5
Yh77-h [%]] 0.0.1.1 | 20010 |£%001.1|----®---|SSS 390.5-41.0 445 (1) [ MSH 35.3-35.2 331 (6)
MEEE 0.0.1.0 | 0502080 | £ 0.0.0.0 | $458 0000 | /0F Y/h1Y(0.4) sk YTV (4.4) k%
P DIN B W FE0.0.0.0 |24 89 171_\196__ F %)‘Eﬂ 21._0_%.29 Bt
o NS 4 0.0.0.0 [ \E0.0.0.1 — 5 | sed
AA4TavEy b X%0000 | F=000.0 4 638 6% 6A
3 (] N&0000 | FH0000 |452 BETH 54 @@ | 450 to#
—) EH0.0.00 | 550000 | 800m # B 0:50.2 37.1|800m % 54.5
20001 [£40001 | - @ --|SM 36.0-35.7 432 (4)
p 24056020380 | £32 0.0.0.0 | @48 0000 | {F1/15(2.0) bikd
eV B %’%Zo 0.0.1 | ¥/ 0.0.0.1 zﬁ.gg.llg:f_ B ﬁﬁfﬂ 210_? 29 A
— a5 140000 | NFO0.000 | K1)— 5 | geE
TAD—RANA K40000 | F=0000 |4 ~ 78 2ESA W
4 IYEIFAFIL SHE 1376@ | )14 0.0.0.0 | FH0.0.0.0 | 410 FT#t 54 GO@@ | 404 EF—
(FRFNHR) SHE 1376@ | E40.0.0.0 | F750.0.0.0 | 1400m & B 1:37.6 43.7 | 800m 4 54.3
277005 77-4 %0001 | 240001 | ----@---|SSM 39.3-39.2 431 (4
AN H-NT 400 A (BE) 05020380 | £ 0.0.0.0 | 48 000 0 | Ph3t1-(5.4) I
WMcKinzie - e _;ﬁgo.o,o 2 | FPE0.0.0.1 23.07 5 15 & ,gu 2, I0)5 21 17 B *}Eéu gi_ots 29 2]
—., == N 2 #440.0.0.0 | /\F0.0.0.1 — L B | et
TrTIUaun 54.0 .068 K40000 | F=0000 |5 83 2&EIA W 4 858 5§ 24
5(5|0 | 1t's Mine B’ | hAE SHE 13406 | NI 0.0.0.0 | FE0.0.0.0 | 465 -5 )1 54 DOG | 470 #JIK 54 @@ | 484 Ry
(Medagl ia d’ Oro) FD . 347| FHE 13405 | EA0.0.0.2 [ F550.0.0.0 | 1400m 4 & 1:34.0 43.3 | 800m & F 0:50.6 37.8 | 800m 4 52.5
ThreeDiamo [%]1] 0.0.0.2 20002 [ e HSS 36.8-41.3 412 (7) | SMM 36.2-36.4 532 (5)
[I=E o 0.0.0.0 | 04030580 | £ 0.0.0.0 | s 0000 | o7 3k’ 2.0)  sEskxk | #277(1.5) HEK
B7ih=7R-k 52|13 E[O: ::: |M50005 | FME0004 240919 17 ¥ h# |24.08.23 16 F m# | 24.07.15 13 & @A | 24.06.21 14 & A1 | 24.05.20 12 & @A
HYFF T B F40.0.0.0 | AF0.0.0.1 | 240 2% | 2mm 2% | 2m= 2 SR 2 m 2% K —LF s
TV 54.0 .138 KA0.0.00 [ F=0.000 |4 1HIN BA|6 858 1& AN |BW |6 5% 8A 5 788 4F TN 6 788 3% 6A
6| a1l o rs720 £ | E@A SHEL 1350@) [ JI1470.0.0.0 | FE0.0.0.0 | 464 -2 @H# 54 QDD | 466 +2 BEE 54 DDA | 464 +2 # 54 QDO A5 54 DO6 | 452 HBERA 54 ®®
(Giant’s Causeway) A .064| HR 1350@ | B 0.0.0.3 | F550.0.0.0 | 1400m &4 B 1:35.0 41.5 | 1400m & B 1:36.1 42.9 | 1400m 1:35.1 42.3 | 1400m 4 ¥ 1:37.9 42.7| 800m &% 7 0:53.7 40.2
RS [%]] 0005 [ %0001 |240005 ]| ----@---[MSS 38.2-40.6 233 (4) | SSS 39.2-40.2 511 (7) | HSS 36.8-41.3 243 (5) | SSS 38.4-41.8 333 (4) | SMM 36.2-36.3 331 (1)
FERET 0.0.0.0 | #05£0%£0i80 | £ 0.0.0.0 | $458 000 1 [ 4F hhay7(2.7) k% b-tvh-9" (2.7) S | NV hiat’ 3.1) Sk | 19194-4(3.8) #E 4hAY-(5. 1) B
PEL Ry S %212 A [AZ00.0.4 [FH0.0.03 [2409.18 10 ¥ EA1 |24.08.23 16 ¥ @a0 | 24.07.15 12 & &M |24.06.17 1/ & A | 240631 ]
LA VvR—45 BARE A 0000 | NEO00.0.1 | 2F= 2% 2= 28 2m= 2 K1) —LF 5 | g
<7 e 54.0 159 X%0000 | F=0000 [9  105EIO0H OA K5k |8 83 3% 8A 7 8 TEG6A s |4 53 3% 5A
1(7 hnsLa ok— F | EH— SHE 1358@) | JIIA0.0.0.0 [ FF0.0.0.0 | 415 -6 BAE 54 DOD@ | 421 -7 BAE 54 DD® | 428 +18 EAE 54 410 fBAE 54 BB | 416 BARE
(A—xT>5y) E0 . 118[ HE 1358@ | A 0.0.0.1 [ F550.0.0.0 [ 1400m &4 B 1:36.9 43.8 | 1400m & B 1:36.1 41.9 [ 1400m 4 = 1:35.8 42.8 | 800m 4 % 0:51.1 37.3 | 800m % 53.7
77-305" vHES [£]] 0004 | %0001 |£40004|----@---[MNSM 38.3-38.8 231 (9) [ SSM 39.2-39.2 221 (7) [ HSS 36.8-41.3 242 (6) | SMM 35.9-36.3 333 (3)
BHEN 0.0.0.4 | #0%05£0i80 | £ 0.0.0.0 | 48 0000 [ -9 42" -5(6.4) %3k | 4/¥39) v (4.0) I | NV Mt (3.8)  SEsEdk | 77 A-5-F44-(2.5) k%
RZA+94—1U7 H2 |11 =l I ﬁﬂ;go.o.o.s FE0002 |4 01810 %ﬁu 24.%?:3 14 ¥ ;%*u Zﬁ'gs'zoj_\]:% B ﬁéu 2@_%1:1.19 A
= =__ Iy £0.0.0.0 | \FHO0.0.0.1 | 2 2 % S1)— s
ITIVITRAS=Y |50 us 770000 |FZ0000 |7 108 1% IA BA|5 85 6% 5A 5  TmIEIA W
1(8 ISy RTY B | TR SHE 1347 | NI 0.0.0.0 | FE0.0.0.0 | 461 +1 FEK 54 @DD | 460 +22 FEK 54 Q@® | 438 Frizdn 54 @G| 435 Fizdn
(7" 27" 4h-F4v0") A . 146| R 13470 | B 0.0.0.1 | F550.0.0.0 | 1400m &4 B 1:34.7 42.3 | 1400m % B 1:35.7 42.3 | 800m % & 0:51.8 38.3 | 800m 4 54.9
A ES [%]] 0003 [Z 0001 |£40003 | ----@---|MSM 38.3-38.8 231 (8) | SSS 39.2-40.2 412 (6) | SMM 36.2-36.3 421 (5)
INRIEFD 0.0.0.0 | 0500580 | £ 0.0.0.0 | B4 0000 | -9 4t -5(4.2) ek | btub-y (2.3) Sk | 3ha-3.2) 5k
5= 2 [ 17 A |mZ0002 | FM00071 |24.09.18 14 F &M [24.05.20 16 & mM | 24.05 02 A
N/ Fay LIS A 0000 | \NFO0001 | 2= 2% R 1) —LF #5 | B
54.0 .277 K%0.0.00 | F=0.000 |5 1088 6% 5A 4 738 5% 3A
8(9| a2 ky—so/—+ ZF | FLE HR 13280 | )I140.0.0.0 | FF0.0.0.0 | 477 +31 (LA 54 ©®@@ | 446 #BEARE 54 ®@ | 459 BAE
(F4—FZAA) HF0 . 237| B 13280 | EA0.0.0.1 [ F550.0.0.0 [ 1400m & B 1:32.8 40.5 | 800m 4 K& 0:51.2 38.1 | 800m 4 52.3
RS [%]] 0002 | 20001 |£40002 | ----®---[MNSM 38.3-38.8 432 (4 | SMM 36.2-36.3 342 (4)
ABFIE 0.0.0.1 | 305020580 | £% 0.0.0.0 | 948 0000 [ #-9 428 -9(2.3)  %E3k% | 5443)-(2.6) b
FUHTYLITSR 42 ;1 . = ﬁﬂ;g‘o,o,o.o FrE0.0.0.0 24_%3%5 13 F Zﬂ’g% 24%%8 28 18 # ﬂ’u#’ﬁ le.%l'gzum Ed gﬁﬂ‘g‘éﬁ 24 (g 03 e
N - il £0.0.1.2 [ \FH0.0.0.0 [ 2 2 %R 3 & | #E
FUTVELRYY 55.0 .242 KA0.0.00 [ F=0.000 |8 858 8% 3A k4| 3 738 2% 6A 6 658 4% 5A
8(10[a|/—7zqh B | At JI40.0.0.0 | FE0.0.0.0 | 461 -2 T)IIf 54 @3B | 463 +17 FJIl#k 54 ®®® 446 E)II% 54 466 T4
(HLSAN—F) s . 156 FA0.0.0.0 [ F55000.0 [1200m % B 1:20.9 43.9 | 1200m % B 1:18.0 40.9 | 1000m &4 B 1:05.1 41.1| 800m 4 53.1
AR [%]] 0.0.1.2 [ £ 0001 |240012]| --® | MMS 36.7-41.3 431 (8) | SMS 37.1-39.5 532 (3) | SHM 35.4-37.6 421 (6)
R A K 0.0.0.0 | 305020580 | £ 0.0.0.0 Yy (2.9)  sEkk | ML (.4) i} BN UT-3.8) ks
AN — k 1400mES F AR (SETEARS : 2022. 10. 23~2024. 10. 22)
IILELL BF4a HERS 1% 2% 3&F @& BE ExtE 44 BF4 HERSK 1% 2% 3F @S BE ExE
Rt 283 81 56 43 103 0.286 0.484 27 212 8 14 6 184 0.038 0.104
4 bl E 247 3% 38 46 127 0.146 0.300 133 2 0 0 0 2 0.000 0. 000
5 HERE 283 28 21 26 208 0.099 0.173 140 6 0 0 0 6 0.000 0.000
1 Bt 357 17 25 19 296 0.048 0.118
12 E&I 158 17 9 9 123 0.108 0.165
19 L 128 13 16 10 89 0.102 0.227
23 EHE% 199 9 13 12 165 0.045 0.111
SRS — H1400mi@ 4t 5 Rkl (SERHEARS - 2022. 10. 23~2024. 10. 22) RETHE HER 3F/ARE
[[:30v2 EHESA HERS 17/ 2% 3F @& = boES % %% 1 2 3 45 6 7 8
1 K10 162 21 15 m 15 0.130 0.222 F (37%&ME) 24 25 26 27 25 26 24 26
2 Fuvad/FeF 91 17 11 8§ 55 0.187 0.308 0 _____
3 Aya—aLvT 121 16 15 12 78 0.132 0.256 7 O60 SvT/B4L REAMEAL
4 FOTFIHVRTLR 129 16 14 9 90 0.124 0.233 B Q@9 38.0 M KIFS51T (534, 544) 3 sk
5  IRRIT—LIF— 152 16 12 21 103 0.105 o184  — _ZTIZT_ 13.6 S IHEEL (434, 445) 3 wokx
6 VIR 95 16 12 5 62 0.168 0.295 o DO® £ 4028 F< Y (255,355) 3 ek
7 ROIRTFAVIIA)T— 129 13 18 1 87 0.101 0.240 5] :1:31.8 IBLVAG (335,245) 1 %
8 KL+ 4 13 6 42 0.295 042 T _____
9  RbOVHUE—Y 93 13 4 769 0.140 0.183 %
10 O—KA+a7 8 12 20 1 55 0.122 0.327 5

. _ . BEERT 0. HHORERZ. HEWH. BFEEGE. INTERBRTOUBREBELTTFSL,
2024%10A258 @M R SUFHAALFYLUD2E 5Ty FR 2 1400m 4—h - & AN OOER. BEHERLEFT,



